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Question 1 : (3+2+3)
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Question 2 : (3+2+3)
1. Use the substitution 4 = In|secz + tan x| to compute the integral
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Solution of the first examination ~ Math 204 Semester I October 2024

Question 1 : (3+2+3)

1. If F'(z) = cosz| cos | + sin z| sin z|, then F(H) =1 (2)+Q)

2.
1+ (SeC $)2 u=tanz+z gy
/ Ganzrap® - J@# O
= 4(tan—zl+z)4 t+ec (1)
k|lze | fxe) | mu | mpf (zi)
0]0 1 1 1
11025 (09117 2 |1.8234
3.[2705 08 5 1.6 (2.5)
310.75 | 0.64 2 11.28
4|1 0.5 1 (0.5
6.2034
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~ 0.7754. (0.5

Question 2 : (3+2+3)

1. u=In|secz + tanz|, du = seczdz, then

1
/(sec z)In|secz + tanz|dzr = 3 In?|secz +tanz|+c. (2.5)+(0.5)

2. Ify = (z% 4+ 1)*=+°% Iny = (Inz + cosz) In(z? + 1), (0.5)

(Inz 4+ cos x)) (z24-1)mateosz (1 5)
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— tanh-! __ 2
3. u=tanh™ (2z), du = 1=

77tanh L(2z) 1 1 1
/ 142 = 5/7udu Sy e @+

Question 3 : (3+3+3)
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